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BERBE Fy=1500 kgf/cm’
RN AR 54 E=7x10° kgf/cm’
Poisson’ s Ratio v = 0.33

SRR AR 3 a =234x10°/C
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Fph=0. 4SpsIp (1+2hx /hn)Wp

Rpa
Sps = L k43 B EA &3t K FE ik B (#rR4E) =
Wp =B iEM B E=060kg
ap =M B RRBEILERAREHE=1.0

o =R BHXRBEIEZHRERETRAEH=2.0
R =1+(Re-1)/1.5=2.0

Re =182 - M R BHFEEXHERBEHBRAE=2.5
For=t88 M RBHEFETOBIRFWEN » B EME K
ZHETHAER
Iy =#H# #BHARBEEIARAE=10
=M M ARG EEExEABZHA=5.0n

=ZEPABEERZISE=5.0n

Fph=0. 4x0. 7x1.0x (1/2.0) x (1+ (2x5.0) /5.0) W

=0.42W
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K3 E Fy=1500 kg/c m

6.3 ~ A2 &A% (M4 —)
WEH CEBEAKR=0.407T < 1.0 (OK.)

PRERE A1tk =0.261 < 1.0 (OK.)
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